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1. Prove that [ 1

2.Find all roots z € C of the equation z° - 3iz + 10 = 0.

3. Express the following in polar form:
(a)(=1,-V2) (b)(0, —1)

4. Convert the following to rectangular coordinates:
(a)(3,135°) (b)(—8,—300°)
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2.Find all roots z € C of the equation z- - 3iz + 10 = 0.
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3. Express the following in polar form:
(@)(-1,—v2) 5 (b)(0,—1)
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4. Convert the following to rectangular coordinates:

(a) (3,135°) (b)(—8,—300°)
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Complex Numbers in Polar Form
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EXAMPLES...
#1. Express each of the following into pz}glr ifyrm
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_#2 press each of the following into the form "a+ bz"
Vj-{/sk“ ) 'o = 'fi
@(>fﬁﬁj Q "3 crs

=6-3
> 2!



Homework...

Worksheet - Converting Polar Rectangular Coordinates.doc
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investigation Questions

14. Convert each set of rectangular coordinates to polar coordinates,

@) P(5,12) ©) Q(=8, ~15)
() R(5, -7 (@)5(-6,3)

Convert cach set of polar coordinates to rectangular coordinales,
(@ 1(7,1359) ) V(-5, 3007)
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16. Explain why there are many different possible coordinates for the
same point when expressed in polar form, yet only one set of
coordinates for the point when expressed in rectangular form

17. Convert each complex number in polar form 1o a complex number
expressed in rectangular form, a + bi,
(2) 505 120° + (5 5in 120, ot 5 cos 120° + 5i sin 120°
(1) 3 cos 2257 + (35in 225%, or 3 cos 225° + 3i sin 225°
(&) 6cosm+ (65in 1), or 6cos w + 6isin

21.(a) Convert each number from rectangular form to polar forn
O=7-1 oty Gii) 8+ 8i
{b) Convert each number from polar form to rectangular form.
() 3c0s120°+3isin120° (i) 8(cos 225° + i sin 225
i) 5 cis (~150°) (iv) ~4cis

24 Express in rectangular form,
(@) 5(cos 45° + { sin 45°)

sin 3
)

25- Express in polar form, where 0° < § < 360
() =6+ 8i ©) -8 - 15¢ © -4 @5
©-V3-2 0 8-9i 8) -7 -7 (h) =2 + 5¢
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